IE-H

(AFHERER, AEDBEREFSTER, BRIKHERER U RIEHERE)

REBROWE
EFnul &
WERRE i iRt B i
Wz R £ 1R W R
L 32| A
N - TUBEHE | apme | meway | BRBS R4
: > S IR RRE S R EEWER Hi g Hig
% % % %
9% g4 Ty RARK 18| 1.45 1.0 - 1.13
2%F| 0.59 0.9 - 0.42
3F 0.03 0.9 — 0.01
REBROEA
x5
B RS ) L]
(ITFASS F1Xig -
L 2| A
R - THEEHE | smme | armaw | mEERS R
= > SRS TR B E R HpEE HpEE
% % % %
148 EERAX 12 8.82 5.4 - 3.91
2% 6. 00 3.5 — 2.98
3F| 4.03 2.6 - 1.96
FHEFAR 2 5.58 4.1 - 2.00
3| 3.34 2.5 - 1.40
4% 2.10 1.9 - 0.83
3% EXEE YR 18| 9.26 5.7 - 4.10
2% 6. 30 3.7 — 3.13
3| 4.23 2.1 - 2.06
FHEFAR 2 5.86 4.3 - 2.10
3| 3.51 2.6 - 1.47
4% 2.20 2.0 - 0.87




HEEMDELE

A=
ERES ) et E (e
LB 51 X LT B L
I =52y A
N S R SEAEE BN i
% % % %
6%8 g4 T v AARK 1Z| 2.86 1.2 — 2.17
2 F| 0.49 1.0 — 0.27
3F| 0.03 0.9 — 0.01
748 i VT vy XA 1% 2.90 1.2 - 2.20
2F| 0. 67 1.0 — 0.41
3F| 0.03 0.9 — 0.01
ERES ) Giet B,
LB 51X LB R
I =52 A
R N X ihRaES HFEHE ARAEE BEBRN RIEH
% % % %
6%8 g4 T v AARK 1Z| 4.76 1.4 — 3.74
2 F| 2.82 1.1 — 2.30
3F| 1.70 0.9 — 1.45
748 i VT vy XA 1% 4.82 1.3 - 3.88
2F| 2.82 1.1 — 2.30
3F| 1.70 0.9 — 1.45
ERES ) et E (e
LB 51 X ML
I =2 A
S N X ihFIaES HEHE ARAEE BEBRN RIEH
% % % %
6%8 g4 T v AARK 1Z| 5.09 1.2 — 4.22
2 F| 2.99 1.1 — 2.45
3F| 1.56 1.0 — 1.24
748 i VT vy XA 1% 7.21 1.5 - 5.89
2F| 3.91 1.2 — 3.13
3F| 1.56 1.0 — 1.24




HEEMDELE

A=
ERES ) Giat B,
7B =1 X LT BB m
I =2 A
N S R YA BN i
% % % %
6%8 g4 T v AARK 1Z| 6. 91 1.3 — 5.79
2 F| 4.09 1.1 — 3.40
3F| 2.47 1.0 — 2.07
748 i VT vy XA 1% 6.94 1.3 - 5.82
2F| 4.22 1.1 — 3.52
3F| 2.47 1.0 — 2.07
ERES ) Grat B p
7B =1 XH M
I =52 A
R N bR ES fFEHE ARAEE BEBRN RIEH
% % % %
6%8 g4 T v AARK 1Z| 11.02 1.5 — 9.53
2 F| 8.47 1.3 — 1.23
3F| 5.63 1.2 — 4.72
748 i VT vy XA 1% 7.83 1.4 - 6.55
2F| 5.69 1.1 — 4. 88
3F| 3. 61 1.1 — 2.96
ERES ) et (e
LB 51X Mt
I =52 A
R N X ihRIaE S fFEHE SRAEE BEBRH RIEH
% % % %
6%8 g4 T v AARK 1Z| 2.04 1.1 — 1.58
2 F| 1.30 0.9 — 1.08
3F| 0.76 0.9 — 0.58
748 i VT vy XA 1% 2.95 1.1 - 2.35
2F| 1.40 1.0 — 1.09
3F| 0.76 0.9 — 0.58
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ERES 15, GrEtE A
7B 51X 7B (L
L =52 A
N S TIBEHE | gpme | mewEn BRI i
% % % %
6%8 g4 T v AARK 1Z| 4.58 1.3 — 3.64
2 F| 2.17 1.1 — 1.63
3F| 0.50 0.9 — 0.34
748 i VT vy XA 1% 4.30 1.3 - 3.38
2F| 1.99 1.1 — 1.48
3F| 0.50 0.9 — 0.34
ERES ) Giat B,
7B =1 X LT B AT (LT
I =52 A
. - TIBEHE | gmme | mewEn BN iz
% % % %
6%8 g4 T v AARK 1Z| 5.01 1.3 — 4.04
2 F| 2.58 1.1 — 2.01
3F| 1.25 0.9 — 1.03
748 i VT vy XA 1% 5.72 1.5 - 4.52
2F| 2.69 1.2 — 2.04
3F| 1.25 0.9 — 1.03
ERES ) GrEtE A
LB 51X B E h
I =52 A
. N SRFIRSS | smme | menEx | SRR RIEH
% % % %
6%8 g4 T v AARK 1Z| 5.51 1.5 — 4.32
2 F| 2.98 1.1 — 2.44
3F| 1.79 0.9 — 1.53
748 i VT vy XA 1% 5.24 1.3 - 4.25
2F| 2.98 1.1 — 2.44
3F| 1.79 0.9 — 1.53




HEEHMDELE
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ERES ) et E (e
7B 51X M
L =52 A
N S R e BRI i
% % % %
6%8 g4 T v AARK 1Z| 4.37 1.4 — 3.39
2 F| 2. 11 1.1 — 1. 61
3F| 0.77 0.9 — 0.59
748 i VT vy XA 1% 5.01 1.4 - 3.97
2F| 2.48 1.1 — 1.95
3F| 0.89 1.0 — 0.62
ERES ) Giat B,
7B =1 X ML
I =52 A
R N bR ES fFEHE ARAEE BEBRN RIEH
% % % %
6%8 g4 T v AARK 1Z| 5.40 1.6 — 4.10
2 F| 2.47 1.1 — 1. 91
3F| 0.77 1.0 — 0.51
748 i VT vy XA 1% 5.35 1.5 - 4.18
2F| 2.54 1.1 — 2.04
3F| 0.76 1.1 — 0.40
ERES ) et (e
LB 51X LB ETERT
I =52 A
R N X ihRIaE S fFEHE SRAEE BEBRH RIEH
% % % %
6%8 g4 T v AARK 1Z| 3.84 1.2 — 3.07
2 F| 1.64 1.1 — 1. 21
3F| 0.56 0.9 — 0.40
748 i VT vy XA 1% 4.15 1.2 - 3.36
2F| 2.00 1.1 — 1.54
3F| 0.25 0.9 — 0. 11
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L =52 A
NN S R e BRI iz
% % % %
6%8 g4 T v AARK 1Z| 1.42 2.1 — 5.46
2 F| 3.25 1.2 — 2.53
3F| 1.54 0.9 — 1.30
748 i VT vy XA 1% 6.77 1.8 - 516
2F| 3.12 1.2 — 2.42
3F| 1.54 0.9 — 1.30
ERES ) Giat B,
7B =1 X L1718 LT T
I =52 A
NN - R e BREH iz
% % % %
6%8 g4 T v AARK 1Z| 3.19 1.5 — 2.19
2 F| 0.44 1.1 — 0.12
3F| 0.03 0.9 — 0.01
748 i VT vy XA 1% 2.63 1.3 - 1.84
2F| 0. 36 1.0 — 0.13
3F| 0.03 0.9 — 0.01
ERES ) GrEtE A
LB 51X L 718 o Ly BT
I =52 A
. N SRFIRSS | smme | menEx | SRR RIEH
% % % %
6%8 g4 T v AARK 1Z| 2.69 1.0 — 2.28
2 F| 1.76 1.0 — 1.42
3F| 0.92 0.9 — 0.73
748 i VT vy XA 1% 3.89 1.1 - 3.28
2F| 2.48 1.1 — 1.98
3F| 0.92 0.9 — 0.73
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TEREL i GrEt B b
L 1 X (L7 BT AL BT
L =52 A
NN S R e BRI iz
% % % %
6%8 g4 T v AARK 1Z| 2.63 1.2 — 2.00
2 F| 1.26 0.9 — 1.04
3F| 0.72 0.9 — 0.54
748 i VT vy XA 1% 3.57 1.3 - 2.77
2F| 1.42 1.0 — 1.1
3F| 0.72 0.9 — 0.54
TEREL e Gret B o ek
L 1 R (L% .75 )1 BT
I =52 A
NN - R e BREH iz
% % % %
6%8 g4 T v AARK 1Z| 3.57 1.3 — 2.7
2 F| 1.41 1.1 — 1.00
3F| 0.03 0.9 — 0.01
748 i VT vy XA 1% 3. 61 1.2 - 2.86
2F| 1.57 1.0 — 1.24
3F| 0.30 0.9 — 0.16
HEREL o et B s
L %1 R 721820 B BT
I =52 A
NN S SRFIRSS | smme | menEx | SRR iz
% % % %
6%8 g4 T v AARK 1Z| 3.97 1.5 — 2.90
2 F| 1.07 1.0 — 0.74
3F| 0.19 0.9 — 0.06
748 i VT vy XA 1% 4.02 1.2 - 3.24
2F| 1.82 1.1 — 1. 37
3F| 0.22 0.9 — 0.08




HEEHMDELE
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I S SRFIES | smme | memEx | EERH iz
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% % % %
6% A Ty AARX 1] 4.23 1.3 - 3.37
2%E| 1.51 1.1 - 1.09
3 & 0.41 0.9 - 0.26
7HE HEACTYIRAR 18 4.31 1.2 - 3.55
2 2.35 1.1 - 1.80
3 0.56 1.0 - 0.31
HERRE g Hiat B
LR %154 (L RA R EIET
L | A
I S SHFISS | smme | memEx | SRR iz
% % % %
6% A Ty AARX 1] 3.25 1.2 - 2.53
2%E| 1.29 1.1 - 0.89
3 & 0.03 0.9 - 0.01
7HE HEACTYIRAR 18 3.29 1.1 - 2. 66
2 1. 54 1.0 - 1.22
3 0.26 0.9 - 0.12
WERRE s HiEt Bt
LR %154 (LR LT
L | A
I S SRFIRSS | smme | menEx | SRR iz
% % % %
6% A Ty AARX 1] 17.15 2.0 - 15.16
2%E| 13.28 1.6 - 11.69
3 & 9.53 1.5 - 8.04
7HE HEACTYIRAR 18 20.03 1.8 - 18.24
2 17.05 1.6 - 15. 46
3 13. 7 1.6 - 12.12
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mRa | wmmmx | oene | kEme | aemEs | mRRR | gRy
R IR AR S RAER BERER R R
% % % %
6% g4 Ty RARK 18| 10. 67 1.5 - 9.18
2 F| 7.48 1.5 — 6.14
33 3.85 1.3 - 2.97
748 A Ty ZAR 1 8.07 1.3 - 6. 86
23 5.47 1.2 - 4.57
3F| 3.19 1.1 — 2.64
HERFTR % iz HRET B i
Iz & F1RXE LT IR A RZ BT
AR | ammx | oene | kEme | aemEs | mRRR | gRy
sEpamEn s || BEE BEWEE R R
% % % %
6% g4 Ty RARK 18| 14.72 1.5 - 13.23
2 F| 12.59 1.3 — 11.30
33 10. 08 1.3 - 8.79
748 A Ty AAR 1 7.52 1.2 - 6. 46
23 5.37 1.1 - 4.58
3F| 3.51 1.1 — 2.93
HERFTR % Hhis HRET B AL i
Tpi7 s F1RXE WLz R E =BT
AR | wmmx | oee | kEse | memEs | mRRR | gRy
R IR EEAEE] & RAER REREER R R
% % % %
6% g4 T v RARK 18| 19.25 1.7 - 17.56
2 F| 16. 54 1.6 — 14.95
33 13. 11 1.6 — 11.52
748 A Ty AAR 1 11.71 1.4 - 10.32
23 9.27 1.3 - 7.98
3F| 6. 22 1.3 — 5.15
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7B 51X B A w4
L =52 A
N S R e BRI i
% % % %
6%8 g4 T v AARK 1Z| 11.87 1.6 — 10. 28
2 F| 8.69 1.5 — 7.26
3F| 5.50 1.2 — 4.60
748 i VT vy XA 1% 8.54 1.6 - 7.00
2F| 4.88 1.3 — 3.92
3F| 2.48 1.1 — 1.98
ERES ) Giat B,
7B =1 X LT B8 1[4
I =52 A
R N bR ES fFEHE ARAEE BEBRN RIEH
% % % %
6%8 g4 T v AARK 1Z| 10. 34 1.7 — 8.65
2 F| 7.12 1.2 — 6.09
3F| 4.56 1.2 — 3.73
748 i VT vy XA 1% 7.60 1.4 - 6.33
2F| 5.10 1.2 — 4.23
3F| 2.82 1.1 — 2.30
ERES ) et (e
LB 51X LR R
I =52 A
R N X ihRIaE S fFEHE SRAEE BEBRH RIEH
% % % %
6%8 g4 T v AARK 1Z| 12.58 1.8 — 10.79
2 F| 8.62 1.6 — 7.1
3F| 5.40 1.3 — 4. 40
748 i VT vy XA 1% 8. 67 1.5 - 7.24
2F| 5.57 1.3 — 4.57
3F| 3.24 1.1 — 2.62
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% % % %
6%8 g4 T v AARK 1Z| 5.04 1.3 — 4.07
2 F| 2.85 1.1 — 2.32
3F| 1.73 0.9 — 1.48
748 i VT vy XA 1% 518 1.5 - 4.02
2F| 2.85 1.1 — 2.32
3F| 1.73 0.9 — 1.48
ERES ) Giat B,
7B =1 X L7181 Z5 T
I =52 A
R N bR ES fFEHE ARAEE BEBRN RIEH
% % % %
6%8 g4 T v AARK 1Z| 4.90 1.2 — 4.05
2 F| 3.10 1.1 — 2.55
3F| 1.75 0.9 — 1.49
748 i VT vy XA 1% 5.16 1.3 - 4.18
2F| 3.10 1.1 — 2.55
3F| 1.75 0.9 — 1.49
ERES ) GrEtE A
LB 51X L7 8/ AT
IN-T P
. N SRFIRSS | smme | menEx | SRR RIEH
% % % %
6%8 g4 T v AARK 1Z| 6.77 1.7 — 5.26
2 F| 3. 21 1.1 — 2.59
3F| 1.52 0.9 — 1.28
748 i VT vy XA 1% 6. 38 1.6 - 5.02
2F| 2.93 1.1 — 2.33
3F| 1.52 0.9 — 1.28
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7B 51X L7218 (2 BT
I =2y A
N S TIBEHE | gmme | mewEn BRI iz
% % % %
6%8 g4 T v AARK 1Z| 5.80 1.3 — 4.77
2 F| 3.10 1.2 — 2.41
3F| 1.72 0.9 — 1. 47
748 i VT vy XA 1% 5.83 1.5 - 4.62
2F| 3.03 1.1 — 2.42
3F| 1.72 0.9 — 1.47
ERES ) Giat B,
LB 51X L1718 8 22 T
I =2y A
R I X bR E S fFEHE ARAEIE BEBRN RIEH
% % % %
6%8 g4 T v AARK 1Z| 6. 43 2.0 — 4.65
2 F| 2.74 1.1 — 2.22
3F| 1.73 0.9 — 1.48
748 i VT vy XA 1% 6. 34 1.8 - 4.77
2F| 2.74 1.1 — 2.22
3F| 1.73 0.9 — 1.48
ERES 15, et E A
LB =1 X 728 = 1| BT
I =52 A
I S SRFIRSS | smme | menEx | SRR RIS
% % % %
6%8 g4 T v AARK 1Z| 71.21 1.9 — 5.48
2 F| 3.32 1.2 — 2.61
3F| 1.98 1.0 — 1.62
748 i VT vy XA 1% 6.93 1.6 - 5.51
2F| 3.32 1.2 — 2. 61
3F| 1.98 1.0 — 1.62
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I =52 A
N S R SRYEE BRI iz
% % % %
6%8 g4 T v AARK 1Z| 5.34 1.2 — 4.45
2 F| 3.02 1.1 — 2.48
3F| 1.62 1.0 — 1.29
748 i VT vy XA 1% 4.96 1.3 - 4.02
2F| 3.02 1.1 — 2.48
3F| 1.62 1.0 — 1.29
ERES s et B b
L 51 XH (L 7 B3 BT
I =52 A
N - THFRAS | smme SAEES BREH iz
% % % %
6%8 g4 T v AARK 1Z| 11.13 1.6 — 9.54
2 F| 1.75 1.3 — 6. 56
3F| 4.49 1.3 — 3.59
748 i VT vy XA 1% 10. 87 1.6 - 9.28
2F| 1.44 1.3 — 6.28
3F| 4.58 1.2 — 3.78
ERES o GrEt B b
L =1 XH 7B
I =52 A
. N SHFIRSS | smme | menEx | SRR RIEH
% % % %
8%7 g4 T v AARK 1Z| 6.06 2.0 — 4.29
2 F| 1.58 1.1 — 1.15
3F| 0.1 0.9 — 0.01
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MEREA o et i
T =1 X T
L 2| A
. - X HhRIaEIS £EEE | MEMER BRBH R
% % % %
— g4/ T v RAAK 1Z| 14. 69 1.6 — 13.10
2 F| 11.89 1.5 — 10. 40
3% 8.47 1.3 — 7.23
HE B OOEE
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MEREA g, GrEt B i s
T 1 R T
N gt LB S s FH D B BRES RIgg
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5%F Mg Ty AARK 1E| 17.59 2.0 — 15. 60
2% 13.556 1.8 — 11.76
3E| 9.12 1.6 — 7.53
L% BOOBE
PaY:
MEREA e et i s
T =1 X —
L 2] A
I S SRFIRAS | smme | memEx | SRR R
% % % %
2%F 2HEEAR 2% 13.58 10.0 — 3.98
3E| 9.75 6.9 — 3. 21
4% 6. 61 5.0 — 2.06
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ERES ) et E (e
LB 51 X LT B L
I =52y A
N S R SEAEE BN i
% % % %
3%F g4 T v AARK 1Z| 10.92 2.3 — 8.63
2 F| 5.35 1.6 — 4.06
3F| 2.29 1.1 — 1.74
458 i VT vy XA 1% 11.57 2.0 - 9.58
2F| 7.13 1.8 — 5.49
3F| 2.84 1.3 — 2.04
ERES ) Giet B,
LB 51X LB R
I =52 A
R N X ihRaES HFEHE ARAEE BEBRN RIEH
% % % %
3%F g4 T v AARK 1Z| 12.78 1.8 — 10.99
2 F| 8.95 1.5 — 7.50
3F| 5.1 1.3 — 4.68
458 i VT vy XA 1% 12.16 1.6 - 10.57
2F| 8.96 1.3 — 7.68
3F| 5.95 1.3 — 4.90
ERES ) et E (e
LB 51 X ML
I =2 A
S N X ihFIaES HEHE ARAEE BEBRN RIEH
% % % %
3E  HEALTFvsRAR 1% 9.72 1.2 _ 8.53
2 F| 7.83 1.2 — 6.75
3F| 5.49 1.1 — 4.76
458 i VT vy XA 1% 8.02 1.2 - 6.92
2F| 5.80 1.1 — 4.98
3F| 4. 34 1.0 — 3.80




HEEMDELE

z1Z
ERES ) Giat B,
7B =1 X LT BB m
I =2 A
NN S R e BREH iz
% % % %
3%F g4 T v AARK 1Z| 11.36 1.8 — 9.57
2 F| 1.47 1.3 — 6. 31
3F| 4.82 1.1 — 4.14
458 i VT vy XA 1% 9.80 1.6 - 8.21
2F| 6.38 1.2 — 5.41
3F| 3.94 1.1 — 3.33
ERES ) Grat B p
7B =1 XH M e
I =52 A
NN - R e BREH iz
% % % %
3%F g4 T v AARK 1Z| 17.05 2.3 — 14.76
2 F| 12.49 1.6 — 10.90
3F| 9.64 1.3 — 8.35
458 i VT vy XA 1% 13.63 1.6 - 12.04
2F| 10. 61 1.3 — 9.32
3F| 8.36 1.2 — 1.24
ERES ) GrEtE A
LB 51X Mt
I =52 A
. N SRFIRSS | smme | menEx | SRR RIEH
% % % %
3%F g4 T v AARK 1Z| 10. 63 1.5 — 9.14
2 F| 8.03 1.1 — 7.03
3F| 6.93 1.1 — 6.08
458 i VT vy XA 1% 10. 88 1.6 - 9.29
2F| 8.03 1.1 — 7.03
3F| 6.93 1.1 — 6.08




HEEHMDELE

Z1F
TEREL g, GrEt B
L 1 X 7B (L
L =52 A
NN S X bR E S sFHE e BRI iz
% % % %
3%F g4 T v AARK 1Z| 10. 67 2.3 — 8.38
2 F| 5.65 1.3 — 4.63
3F| 3.33 1.1 — 2.71
458 i VT vy XA 1% 10.93 2.0 - 8.94
2F| 6. 47 1.3 — 5.38
3F| 3.48 1.1 — 2.84
TEREL e Gret B o ek
L 1 R LT B AT (LT
I =52 A
NN - bR ES sF S e BREH iz
% % % %
3%F g4 T v AARK 1Z| 12.06 2.3 — 9.77
2 F| 1.52 1.6 — 6. 06
3F| 3.83 1.1 — 3.23
458 i VT vy XA 1% 12.28 2.7 - 9.59
2F| 1.34 1.5 — 6. 01
3F| 4.14 1.1 — 3.51
HEREL ) GrEt B
L %1 R B E h
I =52 A
NN S X ihRIaE S sF e e BREH iz
% % % %
3%F g4 T v AARK 1Z| 12.93 2.3 — 10. 64
2 F| 7. 86 1.6 — 6. 37
3F| 4. 41 1.1 — 3.70
458 i VT vy XA 1% 11.69 2.6 - 9.10
2F| 6.76 1.2 — 5.76
3F| 4. 41 1.1 — 3.70




HEEHMDELE
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ERES 15, GrEtE A
7B 51X My
L =52 A
NN S R e BRI iz
% % % %
3%F g4 T v AARK 1Z| 12.70 2.0 — 10. 71
2 F| 8.22 1.8 — 6.50
3F| 3.94 1.2 — 3.16
458 i VT vy XA 1% 14.90 2.0 - 12. 91
2F| 10.59 1.8 — 8.80
3F| 6. 01 1.5 — 4.79
ERES ) Giat B,
7B =1 X L2 B EAR T
I =52 A
NN - R e BREH iz
% % % %
3%F g4 T v AARK 1Z| 13.19 2.0 — 11.20
2 F| 8.93 1.5 — 7. 48
3F| 6.05 1.1 — 5.217
458 i VT vy XA 1% 10. 88 1.6 - 9.29
2F| 7.62 1.2 — 6. 56
3F| 6. 05 1.1 — 5.27
ERES ) GrEtE A
LB 51X LB ETERT
I =52 A
. N SRFIRSS | smme | menEx | SRR RIEH
% % % %
3%F g4 T v AARK 1Z| 12.56 1.6 — 10. 97
2 F| 8. 86 1.3 — 7.59
3F| 6.79 1.1 — 5.89
458 i VT vy XA 1% 13.03 1.6 - 11.44
2F| 9.52 1.5 — 8.03
3F| 1.28 1.1 — 6. 34




HEEHMDELE

Z1F
TEREL g, GrEt B
L 1 X L B
L =52 A
NN S X bR E S sFHE e BRI iz
% % % %
3%F g4 T v AARK 1Z| 10. 98 1.6 — 9.39
2 F| 7.53 1.5 — 6.19
3F| 4. 11 1.1 — 3.42
458 i VT vy XA 1% 10. 86 1.8 - 9.07
2F| 1.22 1.3 — 6.08
3F| 4.1 1.1 — 3.42
TEREL e Gret B o ek
L 1 R L1718 LT T
I =52 A
NN - bR ES sF S e BREH iz
% % % %
3%F g4 T v AARK 1Z| 11.49 2.3 — 9.20
2 F| 6.50 1.5 — 5.24
3F| 3.66 1.1 — 3.07
458 i VT vy XA 1% 11.39 2.3 - 9.10
2F| 6. 88 1.5 — 5.59
3F| 4.27 1.1 — 3.63
HEREL ) GrEt B
L %1 R L 718 o Ly BT
I =52 A
NN S X ihRIaE S sF e e BREH iz
% % % %
3%F g4 T v AARK 1Z| 10. 48 1.6 — 8.89
2 F| 7.33 1.2 — 6.29
3F| 5.14 1.1 — 4. 37
458 i VT vy XA 1% 10. 21 1.8 - 8. 42
2F| 6.52 1.1 — 5.64
3F| 4.95 1.1 — 4.26




HEEHMDELE

Z1F
TEREL g, GrEt B
L 1 X (L7 BT AL BT
L =52 A
NN S X bR E S sFHE e BRI iz
% % % %
38 E(LTvsRsR 18] 9.99 I8 _ 8. 20
2 F| 5.78 1.2 — 4. 86
3F| 4. 11 1.1 — 3.49
458 i VT vy XA 1% 9.97 2.0 - 7.98
2F| 5.63 1.1 — 4.82
3F| 4.1 1.1 — 3.49
TEREL e Gret B o ek
L 1 R (L% .75 )1 BT
I =52 A
NN - bR ES sF S e BREH iz
% % % %
3%F g4 T v AARK 1Z| 12. 30 1.8 — 10. 51
2 F| 7.93 1.6 — 6. 44
3F| 4.12 1.1 — 3.43
458 i VT vy XA 1% 9.01 1.6 - 7.43
2F| 5.54 1.2 — 4. 64
3F| 3.59 1.0 — 3. 11
HEREL ) GrEt B
L %1 R 721820 B BT
I =52 A
NN S X ihRIaE S sF e e BREH iz
% % % %
3%F g4 T v AARK 1Z| 11. 67 2.0 — 9.68
2 F| 1.76 1.3 — 6.57
3F| 5.38 1.1 — 4. 66
458 i VT vy XA 1% 11.14 1.6 - 9.55
2F| 7.76 1.3 — 6.57
3F| 5.38 1.1 — 4. 66
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ERES 15, GrEtE A
7B 51X 718 A ST BT
L =52 A
NN S R e BRI iz
% % % %
3%F g4 T v AARK 1Z| 12.96 1.8 — 11.17
2 F| 8.59 1.6 — 7.04
3F| 5.10 1.1 — 4.33
458 i VT vy XA 1% 10. 60 1.8 - 8. 81
2F| 6. 86 1.3 — 5.74
3F| 4.35 1.1 — 3.7
ERES ) Giat B,
7B =1 X 7B A 5 EET
I =52 A
NN - R e BREH iz
% % % %
3%F g4 T v AARK 1Z| 11.08 2.0 — 9.09
2 F| 7.39 1.2 — 6. 34
3F| 4.82 1.1 — 4.14
458 i VT vy XA 1% 11.34 1.6 - 9.75
2F| 8.12 1.3 — 6. 91
3F| 5.44 1.1 — 4. 65
ERES ) GrEtE A
LB 51X 72182 (LT
I =52 A
. N SRFIRSS | smme | menEx | SRR RIEH
% % % %
3E  HEALTFvsRAR 14 9.40 1.8 _ 761
2 F| 5.33 1.3 — 4.33
3F| 3.86 1.0 — 3.36
458 i VT vy XA 1% 9.32 2.0 - 7.33
2F| 5.13 1.2 — 4.26
3F| 3.86 1.0 — 3.36
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TEREL i GREt B (I
L 1 X L7 B 5 BT
NP
N S R SR BRI I
= 2 AR @5 e R HpER HpEE
% % % %
3%F g4 T v AARK 1Z| 15.24 2.3 — 12.95
2 F| 11.03 1.3 — 9.74
3F| 8.58 1.2 — 7. 44
458 i VT vy XA 1% 14.59 1.6 - 13.00
2F| 11.45 1.5 — 9.96
3F| 8.58 1.2 — 1.44
TEREL e Gret B o ek
L 1 R \Lit5 L AT
NP
. - R SRHEIE HREE I
= 2 SRS m5e =56 = HpE i
% % % %
3%F g4 T v AARK 1Z| 15.85 2.3 — 13.56
2 F| 12. 11 1.6 — 10.52
3F| 8.90 1.3 — 7.62
458 i VT vy XA 1% 16. 43 2.7 - 13.74
2F| 11.43 1.5 — 9.94
3F| 8.69 1.2 — 7.54
HEREL o GREt B (I
L %1 R L7 BB == 1T
I =52 A
. S THREES | smme | memEn | SEBRE RIgH
= 2 SRS m5e =5t e HpEE i
% % % %
3%F g4 T v AARK 1Z| 17.19 2.3 — 14.90
2 F| 13.27 1.3 — 11.98
3F| 11.38 1.1 — 10. 29
458 i VT vy XA 1% 12.94 2.0 - 10. 95
2F| 9.10 1.2 — 7.92
3F| 1.37 1.1 — 6. 49
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L | A
I S SRFIES | smme | memEx | EERH iz
-LH:-%BEE%E%H@( 7T=£$ *ﬁ:ﬁ*&%$ §EE$ §EE$
% % % %
3% A Ty AARX 1] 11.92 1.8 - 10.13
2%E| 8.21 1.2 - 7.10
3 & 5.89 1.2 - 4.96
48 HEACTYIRAR 18 111 1.6 - 9.52
2 1.89 1.3 - 6. 69
3 5.13 1.1 - 4.91
HERRE g Hiat B
LR %154 (LRI
L | A
I S SHFISS | smme | memEx | SRR iz
-LH:-%BEE%E%H@{ 7T=$E$ iﬁ*&%$ §EE$ §EE$
% % % %
3% A Ty AARX 1] 16.76 2.6 - 14.17
2%E| 11.79 1.6 - 10. 20
3 & 8.44 1.2 - 1.31
48 HEACTYIRAR 18 13.22 2.0 - 11.23
2 9.90 1.3 - 8.61
3 7.95 1.1 - 6. 96
WERRE s HiEt Bt
LR %154 IR FRA
L | A
I S SRFIRSS | smme | menEx | SRR iz
-LH:-%BEE%E%H@{ 7T=$E$ iﬁ*&%$ §EE$ §EE$
% % % %
3% A Ty AARX 1] 17.87 2.7 - 15.18
2%E| 12.92 1.8 - 11.13
3 & 9.1 1.3 - 1.82
48 HEACTYIRAR 18 14.51 2.3 - 12.22
2 10.23 1.5 - 8.74
3 1.33 1.1 - 6.39
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TEREL g, GrEt B
L 1 X 7B & BT
L =52 A
NN S X bR E S sFHE e BRI iz
% % % %
3%F g4 T v AARK 1Z| 11.29 2.0 — 9.30
2 F| 1.37 1.3 — 6. 21
3F| 4.15 1.3 — 3.25
458 i VT vy XA 1% 12. 47 1.8 - 10. 68
2F| 8.64 1.5 — 7. 21
3F| 5.10 1.5 — 3.95
TEREL e Gret B o ek
L 1 R 172181 Z5 T
I =52 A
NN - bR ES sF S e BREH iz
% % % %
3%F g4 T v AARK 1Z| 13. 44 2.0 — 11.45
2 F| 9.47 1.6 — 7.88
3F| 5.66 1.3 — 4. 64
458 i VT vy XA 1% 13.06 1.8 - 11.27
2F| 9.55 1.6 — 7.96
3F| 5.47 1.3 — 4. 46
HEREL ) GrEt B
L %1 R (L% /N BT
I =52 A
NN S X ihRIaE S sF e e BREH iz
% % % %
3%F g4 T v AARK 1Z| 13.13 2.3 — 10. 84
2 F| 8.29 1.3 — 7.06
3F| 5.83 1.2 — 4.90
458 i VT vy XA 1% 10.14 1.8 - 8.35
2F| 6.35 1.1 — 5.49
3F| 4. 81 1.1 — 4.13




HEEMDIELE

Z1F
TEREL ) GrEt B
L 1 & (LI 7% . £ S BT
I =2y A
NN S bR E S sFHE ARAEE BREH iz
% % % %
3%F g4 T v AARK 1Z| 12. 46 1.8 — 10. 67
2 F| 8.84 1.6 — 1.217
3F| 511 1.1 — 4. 41
458 i VT vy XA 1% 11. 41 1.6 - 9.82
2F| 8.32 1.5 — 6. 91
3F| 5.24 1.1 — 4. 46
HEREL e Gret B o ek
L 1 X 7% AR = B
I =2y A
N S X bR E S sF S AAEES BREH iz
% % % %
3%F g4 T v AARK 1Z| 12.23 2.0 — 10.24
2 F| 7.91 1.5 — 6. 54
3F| 4.63 1.1 — 3.90
458 i VT vy XA 1% 10.75 2.0 - 8.76
2F| 6. 96 1.2 — 5.95
3F| 4.63 1.1 — 3.90
TEREL ) GrEtE
L 1 & L1712 = /117
I =52 A
N - bR E S sFHE e BRI iz
% % % %
3%F g4 T v AARK 1Z| 17.09 2.0 — 15.10
2 F| 13.06 1.6 — 11.47
3F| 9.63 1.3 — 8.34
458 i VT vy XA 1% 10. 40 1.8 - 8. 61
2F| 6.89 1.1 — 5.98
3F| 5 11 1.1 — 4. 41




HEEMDIELE

i
HERRE s it B
LR %184 LI FLEE T
L 2| A
I S RIS | smme | memaw | BEmmM RIEH
~ wxmrmns || BEE | EERER | E@E ApE
% % % %
3 A Ty AARX 18| 12.82 1.5 - 11.33
2%E| 10. 10 1.5 - 8. 61
3%E| 1.11 1.1 - 6.19
4% ol A 7y 7 AAR 18 11.33 1.8 - 9.54
2% 1.50 1.5 - 6.16
3 4.55 1.0 - 3.99
WERRE s HiEt Bt
LR %154 (L B T
L | A
. N IBIEHE | srme | memEw | SRR B8
~ wxmrmns || REE BEREE | KEE A
% % % %
3 A Ty AARX 18| 12.56 1.6 - 10.97
2%E| 9.60 1.5 - 8. 11
3%E| 6. 21 1.2 - 5.26
4% ol A 27 v 7 AAR 18 9.83 1.6 - 8.24
2% 6.76 1.2 - 5.76
3 3.96 1.1 - 3.28




HEEHDIELE

A —bra—>
MEREA o et i
T =1 X T
L 2| A
. - X HhRIaEIS £EEE | MEMER BRBH R
% % % %
3%F g4 T v AARK 12| 6.42 1.2 — 5.45
2 F| 4.06 1.2 — 3.217
3% 1.16 1.1 — 0.70
£EBOOEE
=FhFE
MEREA g, GrEt B i s
T =1 R T
N gt LB S s FH D B BRES RIgg
IR RS A TR REWER B EpgR
% % % %
— iAo T RAAR 1Z| 0.52 1.1 — 0.20
2% 0.05 0.9 — 0.02
3E| 0.03 0.9 — 0.01
L% BOOBE
MESE v
MEREA o et i s
T =1 X T
L 2] A
I S SRFIRAS | smme | memEx | SRR R
% % % %
— g4/ T v AARK 12| 4. 51 1.3 — 3.58
2 F| 2.45 1.1 — 1.95
3% 0.69 1.0 — 0.46




HEEHDIELE

wy 7
HIERTIR A Hh i et B Hhig
Wz’ 1K -
an | osmmx | o0 | smse | aemEs | mEES | EEs
SRR RS REER RERER ERt® Ept®
% % % %
— sEgAR 2% 3.13 2.8 — 0. 96
3%l 1.75 1.8 - 0.56
4% 0.93 1.3 - 0.33
HFBHDIERE
=
#HEF RS i fRET B i
(ITFASS 1R -
S BIE A TAMEEE | szme | mewaEn | mmme Ry
HOEIREAEE| S TR REWER EfgR SRS
% % % %
24 eEBAR 2% 2.46 1.8 — 1.18
3% 1.74 1.5 - 0. 84
4% 1.21 1.2 - 0. 65
4% EX =P, 2% 0.79 1.4 — 0.09
3%l 0. 30 1.1 - 0.02
4% 0.07 0.9 - 0.01
74 eEBAR 2% 0.55 1.1 — 0.15
3% 0.25 1.0 - 0.06
4% 0.15 0.9 - 0.02
84 EX =P, 2% 0.55 1.1 — 0.15
3%l 0.25 1.0 - 0. 06
4% 0.15 0.9 - 0.02
9 2ERAR 27| 0.55 1.1 - 0.15
3% 0.25 1.0 - 0.06
4% 0.15 0.9 - 0. 02




AR 2 (ARERT IR D Xzl 5 LT=3his)

EBEFFE B
Wiz &
HEBMDIESRE X5 5l2AK Hh i Xig
EX S 9%8 ig4( Ty AAFK % 1R IA=
K= 148 £HEZFARX £ 1R Il
EHEFZAN % 1R IA=
3% £HEZEARX £ 1R (LR
EHEZAN %1 Rig IA=
6 58 ig4( Ty AARX %1 Kig 115!
7% ig4( Ty AAK % 1R IA=
8 %8 ig4( Ty RAARX %1 Kig 115"
NG — g4 Ty AAR %1 X Wiz 8
WAITA 545§ ig4( Ty AARX %1 Kig 115!
ZIE 2% SHRBZANX % 1R IA=
358 ig4( Ty AARX %1 Kig 115!
438 ig4( Ty AAK % 1R iA=
AA—bra—y 3 %8 g4 Ty o RAARK £ 1R I
f-Fh&E — g4 Ty AAR %1 X iz 8
MES » — ig4( Ty AARX %1 Kig s 8
Ry 7 — EEZ/ARX % 1R A=
] 2%F EHRZEARX %1 K15 115!
438 SHRBEANX % 1R IA=
758 EHRZEARX %1 Kig s 8
848 SHBEANX % 1R iA=
o %F EHRZEARX %1 K15 s 8
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